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P, Pi BPP:=D: ,
M x+ Cx+ Kx = f(t) (1)
,M C K Q = Q:diag [P/]
) nxn .
1 M , (1) Q ™M Y?aov Q= diag [A]
Q M Y2KM Y = diag [D ]
oM 'K = KM 'C , x=M Yz, (1)
1 Q= [g @ ., ol
M P ,
Q ™MQ = diag [Mi], Q 'cQ = diag[Ci]
P"MP = diag M ] Q KQ = diag [ki]
, M >0,
Ml/zzpdiag[JM, p- 1 Q oM 'kQ = Q KM 'cQ
_1
—1/z: : [ -1
M P diag '_M]P MK = KM~ e
y=M1/2x,
y+M-l/ZC]\/I-l/Zy+M-l/ZKM-l/Zy: 2 C , (l)
M~ Y25 (9)
M- 1/2CM -1/ ’ Q1 MC K = KC M
QiM YoM YQi= diag [AE], A% A 3 K , (1
E: ) oM K= KM 'c,
o K , MK 'C=CK WM
M - Y20\ - 1/2) ™ - Y20M - 1/2) -
(M - 1/2KM - 1/2) Q\/I - 1/2CM - 1/2)
Q1M YoM - YRQ.) Qi M T VKM T VAQ,) = 1
QiM Y2kM ¥2Q1) Qi M YoM - VRQ) 1985 ( )
-1M-1/2KM-1/2 -JM-l/z - 12
Q1 Q1 Q1 M Q1 1001
’ ( 1995 7 2 )

QiM Y&KM V.= diag [B]
M Ykm V2 , B
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